1 | 2 | 3 ‘ 4 5 | 6
ETRee AR B4 /UNIT : mm
LOADCELL TYPE U251 -200K~21-C3 TYPE oA 57 C [ 0] F [esmpezre)]earemto | 48(0ke)
(Reference Natural frequency(Hz)|Weight (approx. kg)
H4% / SPECIFICATIONS U2S1-200K-C3 | M12x1.75 o0 32 70 15 0.10 2000 0.9

@& =5t / PERFORMANCE U2S1-250K-C3 | M12x1.75 60 32 76 15 0.10 2000 0.9

o i0 B : : U2S1-500K-C3 | M12x1.75 60 32 76 14 0.15 2000 0.9

ERSRR.C.) / Roted Lapactty o tg U2S1-1T-C3 | MI2x1.75 | 60 | 32 | 76 | 13 0.30 2000 0.9
00 kg: U2S1-2T-C3 M4 X2 80 38 108 25 0.30 2500 2.0
1 ton,
2 ton

FE®@EeE / Safe overload : 150 %R.C. 5 C

fRFEERE / Ultimate overload : 200 %R.C.

EE/(R.0.) / Rated Output 0 220,02 mV/VUEHE®™Z / Compressive load) ‘ |
-2+0.02 mV/V(SI5k™TZ / Tensile load) ‘

JEEMME  / Non-linearity : 0.023 7R.0. o — |

c 27 U2 2 / Hysteresis : 0.023 7R.0. A = |

BUBRLM / Repeatabllity : 0.010 7R.0. Sl 1

710—=>""/ Creep - 0.016 %R.0./30 min §§gg i

7 —=7m18 / Creep recovery : 0.016 %R.0./30 min 239? }

Ot / ELECTRICAL e e

HRONET 12V or less TEETTONC T T T I e =

/ Recommended excitation AR

E%XED?]D@@E - 200V STAE (2 — L5 A ) -

/ Maximum excitation NAME SEAL

ENZ YR ;20,02 mv/V

/ [ero balance !

AN : 420140 Q L —

/ Input terminal resistance

B AE : 35025 @ \

/ Qutput terminal resistance o-p

AR IR : 2000 MQ or more (DC50V)

/ Insulation resistance

@ zEHMH / TEMPERATURE @z nft / THE OTHERS

im 2 1 {8 S0 -10~40 C =T DPLT A=Y BmER JomYREEmT T

/ Compensated temperature range / Cable / ®4.77 Leore shield bm connected with Y-terminal(1.25Y-3.5)

FFERE : -20~80 C EEARME © X7 2L R

/ Safe temperature range / Element material / Stainless steel

TRDREFE : 0.014 JR.0./10 T  REHM . [P68

/ Temperature effect on zero balance /1P Protection A

BHDREFE : 0.012 ZLOAD/M0 T ®FHH® : E%?%?\?U @

/ Temperature effect on output / Fatigue life /10 Times on rated load.

O iz / Circult

A / Input(+) :Red OIML Ro0 CLASS Cs APPROVED
yn FTE WATERTAL
= . *'\7 & r feB DATE  2016.03.30
%/ Qutput (-):Blue Minebéa i)%;kd 2 O I 2% DESCRIPTION
Free <BHE SURF.ROUGA.
=4 o ol
'8 / Irput(-) :lWhite éegznggv:elg\usmeiﬁ% % DIMENSION L| TOL / e AR /OUTL INE
A [2016.3.30 | KN16-0150 B o Ty | e HERT/TREAT. AR MODEL NAME EESHEET
&%/ Qutput (+) :Green - 2013.4.4 | NEW N 1p<l=63 | 0.3 U2S1-200K~2T-C3 e
\ we | B XE%E/ECN 0. A 3=l 0.0 F&ERE FINISH X% DRAWING NO. 2257 REV.
L———2— W F:® / Shield :Yellow MARK | DATE | REASON TOU—%E Tk T a0t K153538-2 A

A <fT/E&@/Accessories>

SRR /Collbration certiflicate 1

0LD-TOL:A3-2016



